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QUESTION 1
Automation and Orchestration differ in that:
A. Automation relates to codifying tasks, whereas orchestration relates to codifying processes.

B. Automation involves the process of coordinating an exchange of information through web service interactions such as
XML and JSON, but orchestration does not involve processes.

C. Orchestration is concerned with executing a single task, whereas automation takes a series of tasks and puts them
all together into a process workflow.

D. Orchestration relates to codifying tasks, whereas automation relates to codifying processes.

Correct Answer: A

QUESTION 2

Which encryption algorithm is the least secured?
A. AES-128

B. AES-256

C.DES

D. 3DES

Correct Answer: C

QUESTION 3

Which of the following is NOT an attribute of packet acceleration?

A. Source address

B. Protocol

C. Destination port

D. VLAN tag

Correct Answer: D

Connections are identified by the 5 tuple attributes: source address, destination address, source port, destination port,

protocol. When the packets in a connection match all the 5 tuple attributes, the traffic flow can be processed on the
accelerated path.

QUESTION 4
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What is true about the IPS-Blade?
A. In R80, IPS is managed by the Threat Prevention Policy
B. In R80, in the IPS Layer, the only three possible actions are Basic, Optimized and Strict

C. In R80, IPS Exceptions cannot be attached to "all rules" D. In R80, the GeoPolicy Exceptions and the Threat
Prevention Exceptions are the same

Correct Answer: A

QUESTION 5

SandBlast has several functional components that work together to ensure that attacks are prevented in real-time.
Which the following is NOT part of the SandBlast component?

A. Threat Emulation
B. Mobile Access

C. Mail Transfer Agent
D. Threat Cloud

Correct Answer: C
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